# B A L 5 R 5 i)

1% 100m 9 14 11 1 2

2 100m 6 17 6 8

3F 100m 9 10 16 2
200m

400m 3 11 17 6

800m 9 6 9 13

1% 1500m 15 4 15 3
2F 1500m
3F 1500m
3000m 5 13 14 5
110mH
4x100mR

E = B

B e bk 2.5 9.5 2.5 4.5 18

E iE Bk

fa A &

TUFE R I 10 10 10 7
BFHREER 52.5 83.5 111.5 40. 5 45
I i 3 2 1 5 4

1% 100m 13 12 9 3
2 100m 2 9 15 3 8
3F 100m 2 11 19 1 4
200m
1% 800m 10 9 13 5
2,3F800m 6 16 15
1500m
100mH
4x100mR

E = B

E 1E Bk 3 6 14 12 2

fa f & 13 8 16

POFERR X 2 20 11 4
TFHREBA 38 96 104 25 33
JI& {72 3 2 1 5 4
BRREH/R 90.5 179.5 215.5 65.5 78
JI& {2 3 2 1 5 4




